run_13093036 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Mon Apr 2 19:49:01 2012
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run_13093036 _FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Mon Apr 2 19:51:31 2012
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run_13093036 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
Mon Apr 2 19:52:05 2012
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run_13093036 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Mon Apr 2 19:49:06 2012
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run_13093036 _FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Mon Apr 2 19:51:32 2012
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run_13093036 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
Mon Apr 2 19:52:06 2012
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run_13093036 _FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Mon Apr 2 19:49:11 2012
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run_13093036_FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Mon Apr 2 19:51:33 2012
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run_13093036 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Mon Apr 2 19:52:07 2012
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run_13093036 _FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Mon Apr 2 19:49:15 2012
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run_13093036_FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Mon Apr 2 19:51:34 2012
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run_13093036 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Mon Apr 2 19:52:09 2012
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run_13093036 _FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA

Mon Apr 2 19:49:20 2012
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run_13093036 _FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Mon Apr 2 19:51:35 2012
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run_13093036 FGT_RMS_ 1,Timebin=2,Disc=2,asmb=2DA
Mon Apr 2 19:52:10 2012
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run_13093036 _FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Mon Apr 2 19:49:24 2012
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run_13093036 FGT_RMS_ 1,Timebin=2,Disc=2,asmb=2DA
Mon Apr 2 19:52:11 2012
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run_13093036 _FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
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run_13093036 _FGT _RMS 1,Timebin=2,Disc=2,asmb=2BC
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run_13093036 _FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
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run_13093036 _FGT_ADC _ 1,Timebin=2,Disc=3,asmb=3CD
Mon Apr 2 19:50:54 2012
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run_13093036 FGT _RMS 1, Timebin=2,Disc=3,asmb=3CD
Mon Apr 2 19:52:31 2012

[ADC RMS for RDO=2,ARM=2,APV=12__}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=13 "}

RMS (ADC-ped)

450
400 =
350
300
250
200
150
100 =

50

0

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=14 "}

RMS (ADC-ped)

APV channel

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=16 }

RMS (ADC-ped)

(D) [(==cvoocoosoocooscoooapeo0osoo00055055055505
400 __E"LF
=
350 p=—- -~
300 ==~
=
250 p=—---
200 f=—---
=
150 F=—= -+
=
100 p=—"-"-
—
50 p=——"""
= . . i . . . i . . . i . . . i . . . i . . . i .
0 20 40 60 80 100 120

APV channel




run_13093036 _FGT_ADC _ 1,Timebin=2,Disc=3,asmb=3CD
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run_13093036 FGT _RMS 1, Timebin=2,Disc=3,asmb=3CD
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run_13093036_FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC

Mon Apr 2 19:51:07 2012
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run_13093036 _FGT _RMS 1,Timebin=2,Disc=4,asmb=4BC
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run_13093036_FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC

Mon Apr 2 19:51:11 2012
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run_13093036 _FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
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run_13093036 _FGT _RMS 1,Timebin=2,Disc=4,asmb=4BC
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run_13093036 _FGT_ADC _1,Timebin=2,Disc=4,asmb=4CD
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